> restart

> Ecuacion = 3-exp(x)-tan(y(x)) + (2 — exp(x))-sec(y(x )) diff (v(x), x) =
Ecuacion =3 ' tan(y(x)) + (2 — ¢") sec(y(x))’ (% y(x)) =

> with(DEtools) :

> odeadvisor(Ecuacion)

[ separable]

> M:= 3¢ tan(y)

M =3¢ tan(y)

> N:= (2—¢) sec(y)’

> P:=3¢50:=

> Solucion :=

N = (2 —¢") sec(y)’

tan(y); R == (2 — ¢"); S = sec(y)’
P 3¢

= tan(y)

R=2—¢

S==sec(y)2

int( %, x) + int(%,yj = (I
Solucion := —3In(2 — €') + In(tan(y)) = _CI

> SolucionGeneral = simplify(exp (lhs (Solucion))) =_CI100

> SolGralDos =

tan(y)

SolucionGeneral :== — 3 =_C100
(—2+¢)

Ihs (SolucionGeneral) - ( —2 + €) = rhs(SolucionGeneral ) -
SolGralDos = —tan(y) =_C100 (=2 + ¢')°

> SolGralFinal := —lhs(SolGralDos) + tan(y) + (rhs(SolGralDos) + tan(y))

SolGralFinal =3 tan(y) + CI100 (=2 +¢")’ =0

;Para comprobar
> Sol := dsolve(Ecuacion)

Sol == y(x)
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SolGralFinalDos = 3 tan(y(x)) + C100 (=2 + e’“)3 =0
SolGralFinalDos = 3 tan(y(x)) + CI100 (=2 + e’“)3 =0

SolGralDos == — —22W X)) __ 9
(—2+¢")
SolGralDos == — —22X) __ 199
(=2 +¢€)

DerSol := isolate(diff (SolGralDos, x), diff (y(x), x))
3 tan(y(x)) €'

_d _
Derboli= g7 y(x) (=2 4¢) (1 + tan(y(x))?)

dx

FEcuacion
X X d
3¢ tan(y(x)) + (2 —¢') sec(y(x))’ (5 y(x)) =0

DerEcuacion := isolate( Ecuacion, diff (y(x), x))
d _ 3e'tan(y(x))
ae T e el

Comprobar = simplify(rhs(DerSol) — rhs(DerEcuacion)) =0
Comprobar == 0=0

DerEcuacion =

restart
Ecua = (y2 + x-yz) '+ ()c2 —y~x2) =0
Eeua = (y(x) + xy(x)") (% y(3) |+ = () £ =0

with(DEtools) :

odeadvisor(Ecua)
[ separable]

M==factor(x2 - yxz)
Mi=—x (y—1)
N = factor(y2 + xyz)
N = y2 (x+1)
P=—x3Q:=(y—1);R= (x+1);5:=)"
Pi=—x
Q=y—1
R:=x+1
S = y2
P S
SolGral = int(E,x) + int(a,y) = (I
2
y

2
SolGral = _% Frx—Inx+1)+ 2> +y+In(y—1)= CI
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2 2
SolGralFinal ==—x7 +x—In(x+ 1)+ % +y(x) +In(y(x)—1)=_CI

2 2
SolGralFinal = _x? +x—In(x+1)+ % +y(x) +In(y(x)—1)=_CI (23)
DerSolGralFinal := simplify(isolate(diff (SolGralFinal, x), diff (y(x), x)))
2
DerSolGralFinal = a4 y(x)= x () 1)2 24)
dx (x+ 1) y(x)
Ecua
d
()" +x3(67°) g ¥10) |+ =) =0 (s)
DerEcua = isolate( Ecua, diff (y(x), x))
d —x + y(x) X
DerEcua :'= —/— y(x) = 5 3 (26)
dx y(x)" + xy(x)
Comprobar = simplify(rhs(DerSolGralFinal) — rhs(DerEcua)) =0
Comprobar == 0=0 27)
restart
Ecua = sqrt(x2 - y2) +y—xy=0
Ecua = x° —y()c)2 +y(x) —x (% y(x)) =0 (28)
with(DEtools) :
odeadvisor(Ecua)
[ [_homogeneous, class A], rational, _dAlembert| (29)
EcuaDos = simplify(eval(subs(y(x) =x-u(x), Ecua)))
EcuaDos = —(% u(x))xz-i-\/xz(l—u(x)z) =0 30)
MM ==factor<x- (1— uz) )
MM:=x\ —(u—1) (u+1) 31)
NN = —x*
NN = —x° (32)
P=x0=—(u—1) (ut1);R=x38=—1
P :=
Q= —(u—1)(u+1)
R:=x
S=—1 33)

SolGrallntermedia = int( %, x) + int( %, u) = CI

SolGrallntermedia := In(x) — arcsin(u) = _CI 34)



SolGralPosterior ‘= subs (u = %, SolGralIntermedia)

SolGralFinal =

Ecua

DerSolGral := simplify(isolate(diff (SolGralFinal, x), diff (y(x),

X = y(x)’
q 2 x+y(x)
DerSolGral == — =
erSolGra . y(x) .
DerEcua = isolate( Ecua, diff (y(x), x))
2 2
DerEcua = % y(x)= o yix) r(x)
Comprobar = Simphﬁ/(rhs(DerSolGral) - rhs(DerEcua)) =0
Bl 705 Y e
Comprobar =
X
X = y(xf JZ07

FuncDos =

ComprobarDos =

SolGralPosterior := In(x) — arcsin(% )

In(x) — arcsin( y(XX) ) = Cl

SolGralFinal = In(x) — arcsin( y(x) ) = CI

TG+t —x g o)) =0

x)))

X y
FuncDos = | ——"— x=/x" — y(x

FuncTres := lhs (F uncDos) =rhs(F uncDos

FuncTres —x2—y( )2—x —y(x)

lhs (FuncTres) — rhs(FuncTres) =0
ComprobarDos == 0 =0
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